aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1262-462 Mirror

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

Option 1: Wall Mount

-
A (Portrait) B (Landscape)
%
//
/

—

N

Option 2: Dresser Mount

a N
1262-462

1262-453 TOOLS REQUIRED (NOT PROVIDED)
\_ Y, PHILLIPS SCREWDRIVER

HARDWARE LIST: COMPONENTS LIST:

No. Description Sketch | Quantity No. Description Sketch | Quantity
A |Bolt @1/4" x 2" 8 PCS 1 |Mirror [ 1PC
B | Lock Washer @1/4" & 8 PCS 2 |Wood Strip 2 PCS
C |Flat Washer @1/4" x 3/4" 8 PCS 3 | wall Cleat 1PC
D |Allen Wrench 4mm P 1PC
E |Wood Screw M3.5x 2" g™ | 5 PCS

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.

FOR INDOOR USE ONLY

Page 1/3 MADE IN VIETNAM 02-02-2021




aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1262-462

Mirror

FOR OPTION 1 (Wall Mount)

Mirror Cleat

Wall Cleat

STEP 1: Attach the wall cleat with wood screws(E) to wall which the height is 71-1/4" by the landscape way. Attach
the mirror to the wall cleat as shown below.

STEP 2: If you refer to hang the mirror in portrait orientation, remove the mirror cleat.
STEP 3: Attach the mirror cleat with bolts on the mirror frame (short) as shown below(A portrait) . Attach the wall
cleat with wood screws(E) to wall at a height 79-3/4" as shown above . Attach the mirror to the wall cleat.

Note: Ensure the nail/hanger is in a wall stud or wall solid enough to support mirror.

Wall Cleat

Mirror Cleat located in the
back of mirror

I Mirror Front

71-1/4" by Landscape
or 79-3/4" by Portrait

---Mirror Back
Mirror Frame Dl '
(long) Mirror Cleat
I Mirror Back /
/ B (Landscape)
A (Portrait)
Page 2/3 MADE IN VIETNAM 02-02-2021



aspenhome® ASSEMBLY INSTRUCTIONS

Distributed by Furniture Values International, LLC

ITEM NO: 1262-462

Mirror

FOR OPTION 2 (Dresser Mount)

bolts completely.

Dresser Back

|

STEP 2: Attach the wood strip to the mirror by using 4 bolts(A), lock washers(B), and flat washers(C). Tighten all
bolts on dresser and mirror with Allen wrench.

—

_ Wood Strip .

Mirror Back

Dresser Back

|

Mirror Back

|
|
|
|
|
|
|
|
|
|
|
|
L
i

—

Dresse

L L —

STEP 1: Attach the wood strip to the dresser by using 4 bolts(A), lock washers(B), and flat washers(C). Do not tighten

Wood Strip |
~C |
) \@ 5 |
D

= |

Page 3/3

MADE IN VIETNAM

01-06-2021



	I262 Bedroom -KS VN AIS Model (1)
	I262 Bedroom -KS VN AIS Model (1)
	I262 Bedroom -KS VN AIS Model (1)

